Answer Key
Testname: ASSIGNMENT g

(" 24) Discount = 2149 - 1360 = $789.00
_ 789.00. .
=350 36.715%
ID: cBh 5-3
‘Diff: 1 Page Ref: pgs
25) 33.5% of it = $54.72
33505472
| 1.=\§16334
| -Sale price = 16334 - 54.72 = $108.62
ID: cbm8h 5-4
Diff: 2 /Page Ref; pf’b l/9 182
26) 114.54 /ﬁ (1-0.17)
0.831/~ 114.54
/L $138.00 h

y, ‘
1¥79-182 -

AN
ID cbm&h 5-8 %,

Diff:1 PageRef: pgs 179-182
27 .83L = 84.62 ' N\
L=%10195 N
1D: cbm8h 5-13
Diff: 2 Page Ref: pgs179-182
28) Allow the 3% discount .
Gross reduction in debt = 6200-~ 4760 = 1440 00
Amount paid = (0. 97)(1440 00) = $1396 80
1D: chm8h 5-18
Diff: 2 Page Ref:
29) Allow 5% discount on partial payment of $842. 00
Amount paid = (0.95)(842.00) = $799.90
© 1D: cbm8h 5-22 ‘ o
Diff: 2 - Page Ref: pgs 193-194
. 30) C+1.13C=4230.00
-2.13C =4230.00
Cost = $1985.92
1D: cbm8h 5-26
Diff: 2 Page Ref: pgs 201-203
31) selling price = cost + markup
S =108.50 + 0.40(108.50)
5 =108.50 + 43.40
5=15190
ID: cbm8h 5-27
Dit:2  Page Ref: pgs 201-203
32) Cost + markup = selling price
1420.00 + 595 =5 .
1420 = 415
$346341=5
The selling price is $3463.41
1D: cbm8h 5-29 . ’
Dift: 2 Page Ref: pgs 201-203'



B

Answer Kéy
Testname: ASSIGNMENT_%

33) Twenty percent of selling price = 181.00

181

Selling price = S5 = $804.44

Cost =804.44 - 181.00 = $623.44
1D: cbm8h 5-31
) Diff: 2 Page Ref: pgs 201-203
34) Cost = .66(69.00) = $45.54

- 8=4554+ 56C + .625C
5=1.815C
S=1.815(45.54)
Selling price should be $82.66.

© ID: cbm8h 5-33

Diff:2 . Page Ref: pgs 201-203
35) Markdown = 455 - 395 = 60.00
Rate of discount = 00— 13187 = sttt 1%, 19%
"455.00 - ,
1D: cbm8h 5-40 -
Diff: 2 Page Ref: pgs 206-209
36) Cost=54.10(.88) = $47.61 -
4761+ .515=5
47.61 = .495
$97.16=5
Regular selling price - discount =S
R-.250fR=5 ‘ -
75R =5$97.16
R=%$129.55
1D: cbm8h 5-43 ‘
Diff: 3 - Page Ref: pgs 201-203

37) Regular selling price=C+E+DP »
‘- =59.23 + 14R + .11R
R=59.23+ 25R
75R=59.23
R=$78.97 :
Sale price " =.83(78.97) = 65.55
Total cost =59.23 +.14(78.97)
=59.23 + 11.06 .
—$7029 - — H.7"i
Profit = 65.55 - 70.29 =5/
1D cbm8h 5-46 ,
Diff: 3 Page Ref: pgs 197-200
38) discount = 149.99-79.99 = 70.00
70,00

Rate of discount = 129.99

= 466697 = 46.67%

ID: chm8h 5-54
Diff: 1 Page Ref: pgs 179-182



{

Answer Key
Testmame: ASSIGNMENT 3

39) Cost = (.744)97.00 = $72.168

Regular selling price = 72,168 + 25R

75R =72.168
R =$96.224
New regular selling price - dlscount R
N~ 2N =96.224
: BN =96.224.
N = $120.28

New regular selling price is $120.28

1D: com8h 5-67

Diff: 3 Page Ref: pgs 206-209 .
40) Store's net price = 127.00(1 - .125)(1 - .115) = 96.35

Competitor's price = 137.00(1-.155) = 115.77

Additional discount needed = 115.77 -~ 98.35 = 17.42
17.42
115.77

Additional percent discount = =15.05%

1D: cbm8h 5-73
. Diff: 2 Page Ref: pgs 182- 185

41) Reduction needed = 4755:00 -~ 1900.00 = $2855.00
Discount allowed: 3%
Payment = (1 - .03)(2855.00) = $2769.35
ID: cbm8&h 5-75
Diff: 2 Page Ref: pgs 193 ‘194

42) Cost=(1-.30)(1 - .10)4000.00 = 2520.00
C+.25R+.20R=R
2520.00 + 45R=R .
2520.00 = .55R
4581.82 =R
New regular selling price - discount =R
N-40N=R

60N = 4581.82
N =7636.36

Sale price = (1-.25) % 7636.36 = $5757.27
Total cost = 2520.00 +.25(4581.82) =2520.00 +1145.46 = $3665. 16
Operating profit = $5757.27 -3665.46 = $2091.81
ID: chim8h 5-84
Diff: 3 Page Ref: pgs 211 -215°



Answer Key
Testname: ASSIGNMENT 3

. ’ 5
1) P = 7000; i = 0.055; t =—>
) - D)
I= (7000)(0 055 i = $160.42

]D: cbm8h 7-1
Diff: 1 Page Ref: pg 259

2) P=875.00;r=0.115
~ Time period May 29, 2001, to August 13,2001 =225- 149 76 days

1= (875.00)(.115 37—6} ~ §20.95

1D cbm8h 7-6

Diff: 1 Page Ref: pg 259 '
325
3)1=4927;r=011;t=
) = 365
p-Ll_ 227 50304
rt 11 « 325
- 365
ID: cbm8h 7-8
Diff: 1 Page Ref: pgs 261-262

o 3
= Uu. ; = — ; = OO
4)1 0.045 n=iz 1=100

100

P= Y= $8888.89
0. 04%—15’

[D: cbm8h 7-9

Diff: 1 Page Ref: pgs 261 262 .
325
5)1=4927;r=01Lt =0+
YI=49 r=011 36
P=—1~=—492—z———$503 04
. rt i1 # 325
’ 365
]D cbm8h 7-10
Diff: 1 Page Ref: pEs 261-262

6)1=219.89; r=0.1125 '
Time penod November 16, 2003, to February 7,2004 =15 + 31 +31 + 7= 84 days
219.89

P= = $8493.11
84 B
(1125} —— 365
‘1ID: cbm8h 7-11

Diff: 1 Page Ref: pgs 262-263



Answer Key
Testnarne: ASSIGNMENT 3

’ 7
7} 1=42.95; P = 950; t = —
) 12

r= 4295 __ 0.0775=7.75%
950 | -Z ’
12

ID: cbm8h 7-12 o
- Diff: 1 Page Ref: pgs 262~ 263
8) P=12000;1=480;i=006
480 . '
== 6667(12) =
12000(0.06) 0.666666667(12) ' 8 months

1D: cbm8h 7-15
_ Diff:1 .~ Page Ref:'pgs263-264
: 9) P = 478. OO‘I 17. 09 7—0.0775
17.09

= .4613308 * 365

=168.39 days,
- 'ID: cbm8h 7-17
Diff:1 - Page Ref: pgs 262-263
10) Number of days =31 +30 + 31 +31 +28 + 3 =154
154
1=4249;P = 9404 t=—rm
4 8; 365
‘ 42.49 S 4249 -
= = 0.7 9
’ o045+ 2 = 396.8052608 071
365 -
" ID: com8h 7-18
Diff: 1 ~ Page Ret Pgs 266-267
14 -

11)P= 1750.00; r=00725t=+-

S=P(1+7r)=1750001 +. O7254~12

=1750.00(1.0845833)
—1898.02
ID chm8h 7-20
DLff 1 ' PageRef: pgs 263~ 264 :
12) Interest: I = 4845.94 - 3500.00 = 1345.94; P = 3500.00; 7 = 0.1025
134594
_O%0% gy
tmonths = 3550 1025) * .

=3.75174913 + 12

 =45.02 months
1D: ¢bm8h 7-22

Diff: 1 Page Ref: pgs 269- 2/0



Answer Key
Testname: ASSIGNMENT-3

13) § = 100000.00; 7 = 0.05; # = o
. )
100000.00 __ 100000.00

P= 18 o7 - 93023.26
1+ O.J ) .

12}
1D: cbm8h 7-27
.Diff: 1 Page Ref: pgs 269-270

14) Let the size of the single payment be $x
The focal date is 90 days from now.
The equation of equivalence is

150 5
1700.00[1 +0.14 % 365] +1200. 00{1 +0.14 « —56—5—] =X
1797.81 +1220.71 =x

© x=301852
The single payment 90 days from now is $3018.52.
1D: cbm8h 7-30
Diff: 2 Page Ref: pgs 275-279

15) Use 8 months as the focal date and let $x represent the final payment.'

e oEe)

© 1025.00 + x = 832.00 + 1421.00
x =1228.00
 The size of the payment is $1228.00.
ID: cbm8h 7-31
Diff: 2 Page Ref: pgs 275-279
16) Let the size of the single vpaymentlbe $x.
. At the agreed focal date (170 days now)

1610.00[1 + 0.095|~ 2 +725.00/1 +0.0% 69 67000 .
%5 136 1 0. 095[126

365

1681.24 +738.02 + 648.72 = x
, x =3067.98
The size of the single payment is $3067.98.
1D: cbm8h 7-32 )
Diff: 2 Page Ref: pgs 275-279

|



Answer Key
Testmame: ASSIGNMENT _3

17). Use August 1 as the focal date.
For the $500.00 debt:

153
P=500;7=008 =52
500; r =G 8,t 365
153
S 5001 0.08—— 51
BGSD 677
For the $1000.00 debt:
- 93
S-lOOO,t—-ﬁ
92 '
S= 1+0.08—— 1020.
10001+ 0.0 %SJ] 02016
For the $1500 00 debt:
122
"P=1500; t=——
365
P= 1500 =1460.93
140082
365

The single equivalent payment on August 1 is
516.77 + 1020.16 + 1440.93 = $2977 86 .
1D: cbm8h 7-33
Diff:2 Page Ref: pgs 275-279
18) Let the size of the final payment be $x.
At the agreed focal date (4 months from now):

' 6 T 4 N 3
117_0.00[1 + 0.084[—15-]]_+ 1243.00[1 + 0.084[—1-2-]] = 1505;00[1~+ 0.084[3-2-]] +x

1219.14 + 1277.80 = 1536.60 + x
960.34=x

The size of the final payment is $960.34.
- ID: cbmsh 7-34
Diff: 2 Page Ref: pgs 279-283

19) Let the size of the equal payments be $x.
The focal date is today.

" The equation of eqmvalence is:

835.00[1 +0.0875 = ;605} ¥ 835.00[1 +0.0875 ;655} =x+ x
- 9 : 1+ 0.0875 +

65
365

853.01 + 842.00 = x + .9846569x
' 1695.01 = 1.9846569x
x = 854.06
The size of the payments is $854.06. .
ID: cbm8h 7-35
Diff: 3 Page Ref: pgs 279~ 28’-5



Answer Key
Testname ASSIGNMENT 3

20) Let the size of the equal payments be $x.
At the agreed focal date (now):

1480. 00[1 +0. 12[142]] 1385. 001 =x +——
1+0.12
; M 1+ 012[12]
1539.20 + 137129 =x +.9174312x :
' 2910.49=1.9174312x
151791 =%
~ The size of the equal payments is $1517.91.
1D: cbmBh 7-36
Diff: 3 Page Ref: pgs 263-284
21) Let the size of the equal payments be $x.
At the agreed focal date (today):
' x x x

3325.00 = +
102 157 189
0.1 +(0.1215
1+ 215[365 1+0.121 L365] 1+0. 1215[365]
x x X
-3325.00 =
33250 1 0339534 1. 0522516 1.0629137
= 9671616x + .950334x + 9408102x
=2. 853058x
1163.28 =x

The size of the equal payment is $1163 28.
ID; ebm8h 7-37.
Diff: 3 - Page Ref: pgs 283-284

22) Let the size of the equal payments be $x
Focal date is September 30.
Equation of equivalence is:

90 59 - 31 '
1000. DO\:] +0.06 = 36—} x[l +0.06 = 365] + 1{1 +0.06 = 365] +x

1014.79 = x(1.00969863) + x(1.00509589) + x
1014.79 = 3.01479452x
336.60=x
The size of the equal payments is $336 60.
ID: cbm8h 7-38
Diff: 3 Page Ref: pgs 263-284
- 23) Let the size of the equal payments be $x.
Focal date is September 30.
Equation of equivalence is:

18?_5.00[1-+ 0.086 * 204] - x[l +0.086 % —E-’—?’—} . x[l +0.086 +

103 58
365] +x[1 + 0. 086 T

365 365 ] +700.00
1212.72 = x(1. 0360493) +x(1.0242685) +x(1. 0136658)
1212.72 = 3.0739836x
39451 =x
The size of the equal payments is $394.51. -
1D: cbmSh 7-39
Diff: 3 Page Ref: pgs 279-283



Answer Key
Testname: ASSIGNMENT_3

24) Let the size of the equal payfnents be $x.
The focal date is one year from now.
The maturity value of $1175 due in 9 months with 6% interest

= .1175.00[1 +0.06 * —19—2} =1227.88
The equation of evidence is:

1430.00(1 + 0.075 = 2) + 1227 88|:1 + 0.075 = —2] = x(1+0 075 1)+ x[l +0.075 = —2] +x 1644.50 + 1250.90 = x(1. 075) +

x(1.03125) + x.
2895.40 = 3.10625x
932.12=x
The size of the equal payments is $932.12.
1D: cbm8Bh 7-40
Diff: 3 Page Ref: pg 259 .
)Iegal due date is November 1, 2001. _—"" .
Interest\pe&gﬂa\nuary 29,200 ovember 1, 2001 is 276 days.

Interest = 1195.00{71423

st TS
:

/lef 2 ‘Page Ref: pgs 294-296
26) Use P = 5700.00; 1 = .112/12%; n= 84
S= 5700(1 +.112/12)84 = 5700(2 182263) $12438.92
" ID: chm&h 9-1
Dif:1 ~  PageRef: pgs 337—340
27) P =4100.00;i=4%;n=14
S$=4100(1 + .04)14 = 4100(1.7316764) = $7099.87
ID: cbm8h 9-2
Dif:1 . . Page Ref: pgs 337-340

8%

28) PV = 3000;i = 4:2%:002-n=15(4)_:60;I/Y=8;P/Y=C/_Y=4

FV= 3000(1 +0. 02)60 ='9843.09

Programmed solution: -

(Set 7Y = 4) (CLRT\'\I) »ooo-m 60

( CPT J { FV} [ 9543.09 ]

Interest = 9843.09 - 3000.00 = $6843 09
1D: cbm8h 9-3
Diff: 1 Page Ref: pgs 337-340°
29) P =13500.00;i=8.44%/4=211%;n=11*4=44
S =13500(1 + .0211)44 = 13500(2.5061332) = 33832.80
1=33832.80 - 13500.00 = 20332.80
ID: cbmgh 9-4 ,
Diff: 1 Page Ref: pgs 337-340

10



Answer Key
Testname: ASSIGNMENT__S

3WrP= 10000. OO i=6.0%/4=1. 5%,n 15*4 =60 -

. S= =10000(1 + 015)60 10000(2.4432198) —-24432 20
1=24432.20- 10000.00 = 14432 20
1D: cbm8Sh 9-5
Diff: 1 Page Ref: pgs 337-340

13.48%
4

‘31) P 3500. 00 i= =.0337

- October 31, 2002 July 31,2016 contains 13 years, 9 mon‘rhs
n=13%4+9/12%4=52+3=55
S =3500.00(1 + .0337)95 = 3500.00(6.1901104) = -21665.39
ID: cbm&8h 9-6
Diff: 1. Page Ref: pgs 3'—17~'%40
32) P =2700000; m = 1; i=16%; n=4
- §=2700000(1 + .16)4 = 2700000(1. 81063936) 488872627
. Forecasted assets will amount to $4888726 27.
ID: cbm8&h 9-9.
Diff: 1 Page Ref: pgs 337-340
33) P =50.000 000; m = 1;i=10%; n=10
S =50000000(1 + .10)10 = 50000000(2.59374246)= 129 687 123
Forecasted assets will amount to $129 687 123.
ID: ¢cbm8h 9-10
Diff: 1 . Tage Ref: pgs 337-340
34) P=3875.00;i=9.75%; n i%‘= 5.0833333

S 3875 00(1 0975)5 0833333 3875 00(1 6046846) $6218 15
ID: cbm8h 9-11
Diff: 1 agl_ Ref: Pgs 341-342

35.) P = 4320. 00;1i=8.25% = .0825; n =-18—2 =5.6666667

S= 4320 00(1 0825)5.6666667 = 4320 00(1.5670811) = $6769 79
. 1D: dbm8h 9-12
Diff: 1 o P'\OL Ref: pgs 341-342

. 36) Tnterest penod 2001-03-31 to 2006' 08-31 contains Ef years 5 months.

P = 1400.00;= 0191, n—-f4+ %{44%%

Matunt’yvalue= AT IO TRL 566666

21.6

= /400{[ to. pt‘?/)
Ilfl)j;:ff?]?lmSh 9—11"310eRe.f' pgq 37-340 ) , | - 4 = Zl ( o ?r 46 (&) ‘
37)N= (6+—)4 263333333 . | '
P 11415.00(1.019)-26.3333333 = 11415; 00( 6091812) = §6953. 80

ID: cbmBh 9-17
 Diff: 1 Page Ref: pgs 354~350
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